
k=
2

The continuous rv X has pdf f(x) where

f(x) = kx, 0≤x≤3

Th
e
co
nt
in
uo
us
rv
X
ha
s
pd
f
f(
x)
w
he
re

f(
x)
=

kx
0
≤
x≤
4

4k
4
≤
x≤
9

The
continuous

rv
X
has
pdf
f(x) w

here

f(x)
=
k, 3
≤
x≤
3.5

k=
1

3

k=
1

28

Th
e
co
nt
in
uo
us
rv
X
ha
s
pd
f
f(
x)
w
he
re

f(x
)
=kx

0
≤
x≤
4

4k

4
≤
x≤
10

k(
14
−
x)
10
≤
x≤
14

The continuous rv X has pdf f(x) where

f(x) =

kx 0≤x≤5

5k 5≤x≤10

k(15−x) 10≤x≤15

k=
1
9

k=
140

ThecontinuousrvXhaspdff(x)where

f(x)=
kx0≤x≤7

k(14−x)7≤x≤14

The
continuous

rv
X
has
pdf
f(x)
w
here

f(x)
=

kx,
0
≤
x≤
3

k(6−
x)3≤

x≤
6

k=
1

32

k=
1
8

Th
e
co
nt
in
uo
us
rv
X
ha
s
pd
f
f(
x)
w
he
re

f(
x)
=
kx
,
2≤
x≤
6

The
continuous

rv
X
has
pdf
f(x)
w
here

f(x)
=
kx, 0

≤
x≤
4

k=
2

9

k=
1

16

Th
e
co
nt
in
uo
us
rv
X
ha
s
pd
f
f(
x)
w
he
re

f(
x)
=
kx
,3
≤
x≤
7

Th
e
co
nt
in
uo
us
rv
X
ha
s
pd
f
f(
x)
w
he
re

f(
x)
=
kx
,
1≤
x≤
5

k=
120

k=
1

50

k=
1

12

Th
e
co
nt
in
uo
us
rv
X
ha
s
pd
f
f(
x)
w
he
re

f(
x)
=
k(
6−
x)
,
0≤
x≤
6

Th
e
co
nt
in
uo
us
rv
X
ha
s
pd
f
f(
x)
w
he
re

f(
x)
=
k(
5−
x)
,
0≤
x≤
5)

k=
118

ThecontinuousrvXhaspdff(x)where

f(x)=k(10−x),2≤x≤10

k=
2

25
The continuous rv X has pdf f(x) where

f(x) =k, 1≤x≤5

k=
1
5

The continuous rv X has pdf f(x) where

f(x) =k, −2≤x≤1

k=
1

24

The
continuous

rv
X
has
pdf
f(x) w

here

f(x)
=
k,
0≤
x≤
5

k=
1

4

The
continuous

rv
X
has
pdf
f(x)
w
here

f(x)=
kx
0
≤
x≤
4

4k
4
≤
x≤
8

k=
1

49


